Math 221 Calculus 2 Midterm Exam 1
Professor John Maginnis September 24, 2013

Your name: <§C) ( A ‘l' { QOV’\ S

Rec. Instr.: Rec. Time:

Show all your work in the space provided under each question. Please write neatly
and present your answers in an organized way. You may use your one sheet of
notes, but no books or calculators. This exam is worth 60 points. The chart below
indicates how many points each problem is worth.

Problem 1 2 3 4
Points /10 /10 /10 /10
Problem 5 6 Total

Points /10 /10 /60




1. Evaluate the limit.
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2. Evaluate the definite integral.

/ %8604(9) tan®() df
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3. Evaluate the integral.

/7:::—6 v Factor X%,ZXZ; X (x-2).
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4. Evaluate the improper integral. R
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5. Evaluate the integral.

/6:02 tan™!(z) dz
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6. Evaluate the integral.

2 X 61\1’\9:%
Vi =12
dz —
/ - S | KosQ:W
Ji—= 2

56./1757[7% 7(': Z 57//\9
NDx= 2 o5 B Jo

54421 LQ)(:_ 2[6\7529 , 26,059 é)@ _
’ 4§/n8

S s & Jo :jcméz/e) Jo

500

2 2
@Yil%mwﬂneww ot (6) = cs5c(6) —|

S 50{2(9) Do = § C%ZS Je *‘§zﬂ@
- et l(e) —8 +

—

= E’"“'xa _sn(Z) + C\
XI

-]

7




